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Fitzess
(1) This passage chiefly deals with
(2) What’s the topic of the article?
(3) What is the subject discussed in the text?
(1) With what topic is the passage chiefly concerned?
HHBEETEXEHE
HHRAETEREENMELBETEERNEENSEREANRE ). HEXENEAREENSER
LR ERMAM 2XERNEREE., AEESENEN, LR LEREE ETERREI T A BEXHBE
REEEREN—FEX.
HEIHERFTXE
(1) The author’s main purpose in writing the passage is
(2)The passage is meant to

(3)The purpose of this article is

(4)The purpose of the passage may be expressed as

(5)The purpose of the writer in writing this passage is

3. R FEXEME

CE BB KNS — RO T X ERREZE B HE R CE PO B ERE S BRNERE, RXEP LR
BMHHREER . AnEe] ARSI VEE, BT UREF. XERENFSE. E/MER. SEEEL;HmEN
R, — MR ER BB 2 2 30 U BB AR BE R R, U BE R/ s W3R, FREPE R B S RENBEERAE.

e FE SCE AR W X SCE O B GERE I — R E LB,

RO ERITH

(1) The best title/headline for this passage would be/might be/is

(7)The text (passage) could be entitled

() What is the best title for the passage?
1) Which of the following would be suitable as a title for the passage?

(7)What might be the best title of this passage?

L CARNFEXEAE

IR H 978 B Bl FE SCEE S, BB 2% AR N A SCE I £ B X A SR R A HI T

HHER XA

(1 )Which of these old sayings best suits the story’s lesson for us?

(?)What would the author probably discuss in the paragraph that follows?

(3)In the next part, the author would most probably discuss with you ;

5. PlEREFEAREM

I 2 R AU BOR 2% A RE XA S FB I s EM LE N B E WU R A2 BEZRIMNXR. TEREE
EAESBEE A TFREMNCEMNER ZFHFHMEE., BTHHESHEITFHEICZ — . case, example, illustra-
tion,demonstration Z£id]15 ,

HRWEHRFTLE .

(1)The author wants to prove the example of ... that

(2)The example of ... is used to show

(3)In Paragraph... the author uses...as an example to
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REEERBEN R -REEREMDLORE; —EEREME EEA; = RENEEERIIFHE.

BERBEXEN T L, BALTIES —BENT.ORFERT AN H CEHF.OBE., EREREPL
BB ERI RIS BB AR, B RIXEFETT A& NN ARERELTAS (AR R 520, -
AEYRXEFREROAE EARKE, AR, TEEEEREHBESNESBRENLSTAE.
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HEENEEA. LRSS EEAERMRAREELNEREN R ERER.

FRA AL E— B TEBE , BIE A 2L A5, S — EEERKKRE., BAERRH, UIRAR
WSCB TR AR RAE LB HMLE I, A EBRE P E K, XF EEAAFHAER, R EME. RELT
B CEED, BETHRE SRS E AFARETERE (EUD, REATHRRE.
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XEERHEFBZE  BFERTIKENFLMAT Y FEATHEBMEE. XENEFANFQETE
HELMENHVEER, FTEFILENETPN TFEFERARAZTUNEEST L, IR XNERNREANEE,
MY R FEFLNRBEER AR LT LN F BIEFHAE KT, XFHELFTERNORX T &4 RIE
TERERNFFRBR, FEREAREANA EER, XHRANEEENEE L SO A B, Br LB
BEHMAE B h R F IR FEF IR E 4 ER T A SCE R R E

HELMT BN LA FEREEAAEE, L EMIMTNEN AT HERISHN E. AREETH
BARBEE O AT MRITH . XENHETEETREEEEEMAE, MEYMER SRR KK REE .
KE, HZ2EEATRAEEARE, ZREMBOEM L. BEdACWELEKEBYNERSGL . AHEL,
Wit B G GEESE, TN RAEEARH XENREE, MEEHAR X AREREE. MEN—EEE
B SCPR I 5B RN A A R BRI A, TE R R SO B R AR,

. HiEEEE

BREEAGREXETEERAEATEL ANELGTEENTEABSBHEERMOER. &K
BEALUEMNFEROITE A GHITEREFANITES. XBETEESHAFZHFE, ENEE=4 — 8K
B, MERRRENTEREEBXENKRE . AFLEX L W ITEEREBBEFHEERNEER,

HIHERTXE

(1 " How much does..- have to pay for... 7

(2)How much time does... spend in doing... ?

(3)It takes... to play computer games every day according to the passage.

2. HEZ R &

WRABREEERXRFAEET S I L BANEL, REXN EENFLHTHTF. TEERESEER
B WSERIF B R A R A F 2 B BB e R , R FESHRE KRB EHRIUT . AR B ORE A AR 4R
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R R AR SEJR I MR T Z BB B0 R, R0 B4R A B IE SN .

HIHER LA

(1)Which is the right order of the events given in the passage?

(2)Which order of steps is followed in carrying out the project?

(3)Which is the right order for doing them?

3. BIEPHAE

RIFBAFM, —FMRRERNWATER, - MHETESSLSXAZTHTHTAE . fT—fEEEZ0 AL
AR SCEMTR M, TAREX B, AT AKX, RATE G —F R R 15 3R 20 b &7 , 503 e 38 4 it i
PEIRE.

HRHERTXE -

(1)Which of the following statements is(not) mentioned /true /correct?

(2)All of the following statements are mentioned /true /correct except...

IR ERR A

RE R R 2l T A A B B T S TR R A R BUE B P AR AR 0 R f o B, S8 KA E R AT
BRAOMWHARIST. EERERERN M ZEAED, ARNEE RN EEBRXED AR HAAEET S, X LA
AEHBE I T B B, AN SENLENTHERNGEE. SXFEEEEZEXENER B LS,
REFEMEHTZEEAROES . BEABE AE . EY . SRiHREFZHER,

LR BT A |

(1)Which of the following maps gives the correct position of?

(2)Which of the drawings gives an idea of what is like?

(3)What is the diagram showing the correct position of?

(4)Which of the pictures best describes what i.s like?

5. ARXK AR

R EEFENEEE D, ERHFTEARRRSTNEZEETELN, KBFEREEENEXEHFTZ
HHOANERR, FHELXRNTEERAAENER. IMEELERIER . BRERNERETES £ #1772
BRI, N AW K., BERHFATRARSITHEFE - R EABEXPH N FLABE
Kk Ew R R .

FRHMERATRAE :

(1)..did something because

(2)Why did... not do as he was told to?

(3)For what reason does... go to work on Sunday?
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REIEFNER BRAIMR =X, BR=X 4. RN REFEEXERRELESE, MHTE
“BRIEMECHETE SEESEMER REXRERNER . AR5 IR B RS, 3B & 150 5T %R R, %
EMNSEX——#HTWE R ENRETHE . ER - XHENETAREENEET TRENGEERER
#&— IR B R AE BT AU B AT LA SE B — T 9S8, 8 e v g 36 (6] R, 78R (81 R SR .

BAEREENBEXESHAREG SRR . AXEMSR EMHRIE. F2mE, WEHH T . E/RE
BXFHT AN ARFERFEERANEERE L.

HMARXFZEN BERRTPHERGE, REREREAEET P ROFR S ZANEREXRSEX
Bt B9 SR R IESF A B RSO B R T R SEGE R FESCH R B T H . A REAREESRR, BHEE
SRR BIARYE , RA IEB P E TME SO A B R R A R IE A e 8% .

F=T HIEHEE

Sansm

C

AW EER S EREXCERBENRRNELHTEEMEER, HEUEERRIINEFLREFTEAENTT
REHE W EEIEERER . BH - NEHEMNS R, ANMAMEEENEZEABEEXPEERD . TAERE
XEFHANE R MEASTE AZEBREN T EMUERE REEHSEGAN. TALFTRECER
HOFLMERE MAREEZEECHEL.EF . RE, NFEFTREREENSHZE LEBEEN
v SEMRABEHEEK . EHAHEAE L. FE AERRAM ¥ FHKIAESE infer, imply(BE/R) , sug-
gest, indicate %, FH X EHE M EH - BWABEXETEERIABZR(UP HEN"EERREER),

HEHEDTREE RS AR REFEREM b, MEXRERA, EHZ8E%, FHFRERXENRES X
HEE. #ESWEEEZEE M FHRES L ENEENSEZEBRUAXENRES. XXERETE
Tk 4

. XEHLAR

WREABEBANETRTERERNY —XEE. HEESEFLHADEAMET . ZETLGELXERN
P2 ER S5 i B S BT T HI T AR SO KRR e B . MM CE AL E R E R RA -

(1.)The passage is most likely to be taken from -

(2) Where would this passage most probably appear?

(3) The passage is most likely a part of

2. MESHME

RESWEBEFTEZEBMAENERLEHWERS . ZAEEFSEESCER RS, B BRE R R Z 6 KX
R.ABEAENEEIE. RENXEWRERAFTEBEMEE, FEREFEEXENT L, HEMBEXEYN
ROBRE, FEARERENEEFENARTREREN T L AT RHEAERENTEHBIRE. BE5EZ
EEAEEEE, A LR T BEXETXER, BR™%. ARBFEEETRRAAENBEEFERAHAX
EEAEA KR KUFFEREVEAFTERS. WX EHAAEHNER, TREAFTXE:

(1) How is the passage organized?

(2) Which of the following best shows the structure of the passage?

3. EEEEAE .

WRBEALEELEEENSIEENMER. T H %A want to show, the purpose,in order to %idi.
MEEEERKERE, FRERAT XA

(1) The text is written mainly for those

(2) The writer writes the passage in order to
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4. EESEM

WRBEEREEENXEFEESERHGN . FESERBEI N =M (DXRFHBERE; (O P IRER; (3
B HIF X . BT H A attitude 5% think, believe,deem, consider,regard %L, T F R — S X REEF
B2 R P 2R . SR B IR R AT LA S AR 2 LR B 3R] B R 4R

HRERAFTRXA

(1)The writer suggests that...

(2)What the writer really means is...

(3)What does the author think of... ?

5. BIEFZA

EhFEEIELELEENEBAERARTESREEENMWBREMYE. THRE AEREB—THEE
BAEXEER, MadEFNREFENSEESHANEENRXENONERRREREOE T MET. 4
BLUFSCES KR R AT RA AR NEAEE AN ERSEESENNBRADE. SHE0TR
AHZR, AT LA 20 5 I R ES. FRMER A

(1 )How is the passage mainly developed?

(2)The author develops the passage mainly by

6. A HUr

TRACHIWTRE = 2 % 28 AR R SO R, R HEWT b S R BT R R & X . T 8T o B i 15
H RSO AL B AU Z SR B HAE KR, B F B8 IAA it, that,one, WRKEHA T RA

(1)What does the word“this”underlined in the... paragraph refer to?

(2)The underlined word“It”in Paragraph...refers to
Smannt

L TRXENEFHESEN EENSEENMEREMNATR
HEIMEERNBEER, UMEETHXENETE RESTEENRETE EAMMBNELH. EES

BE 60161 SR 45 1 2% X DR RO XL R ] L B 6 R SR TR » M AR B A B S R 5T 0 L
REBR. FEHNIMHEAMAMNBRECEEERSEXENTESE . AMEFTEHNREZ . Hit,
N T RS RN EESCREE SR, LHEREBREAENEAA.

LHBE2XHROEBEERENIENY A SR ER

RXERBEHA—EREIXHFOLRBBREEN 2T WA, THRARXEFRE WA, EEHEW
FRE -GS IEAFN X EZER AR O0BRENIEE. REEREE A TR R X CEE, B
BEREALCREHATHIN.

L.XEBEMARTHEHMERHT XL EHAMNKE

MICE A A S G H 7T LU B AL, Hodn . SCEERTE 3L B 8 i A SE IR B R EH BIRK. &
BAEEGPA. EREKAASI . RENFEAUNA, ™02 REERET X, 25 % 60 IR A 3583 F1 iR A ad E] | ik
BABRFHBETTMmUASH. .

For children six to twelve years old, give half the amount. For children under six years old, ask your

doctor’s advice. XBEXFHEBRAMHEAP LK.
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LIEENBRESERERN AYERNRE

HEMAYHERBEERHILEFEAAMNER USHECH R ERBEEZNNE. HIEEEEHER.S
BE RIS A B35 . 20 : A“Ninety-nine years old, and I haven’t an enemy in the world. They’re all dead. ”7J L/
EFRREANBCHFHWEZE. Ml can’t see why you shouldn’t. You look fit and healthy to me!” X 7] L&
FlYEA B X @EREN B1E .

5. XEHEMPSMEHENH EMERRIE

AUERBENCESHOAERT A RBEN S ERER. B, AiENANEF TR . G0 ER,
MEEEFITEROHAAGEN,

B2 2 T 2T LA B S S 4, ) A OGS 40 4R A A R B R L TE 6 A0 SR 4 o TR A P 1B B M AT R
0T U0 I S D S, S BT

FOT BAEX™E

Cog CERCY ]

Ly

BN RE S BB EEAES N — T EER G, AR CEN RS SR EERE I ELSENARTZ

- EEHRESUENE S ESEFEMRE LT O RIEEAHE B ERGERAMME L. EENE
A4 A 4 iR S TR M B SR AR L RBA . BENERA 2~4 BA%. EANBRAUREERMESS
“BIEL”, IEENBRAREREXTERATEL A, AUMABFHER BB, MEEEANFNE X
SEIFMAER B

I, 4 i 7] X 5 M /R

RELOASCEMEERRZH X Z NS ERREZERN, B A ELRAEIRT  BRERREEAHNE
. X TFREERE, BEERAARERL A REAE BT EURS R REPLF— i&ﬁﬁ@ﬁ@‘ﬁ?ﬁ
XE, HPAE—FRE FAEMERE LT XHENERKAL., FLEEZBFEER, RIIATEERL -4
AR EE - XENIE R XERMNBZBEZIRFEDSAF! FFURMNLHARE—ERHE TGRS »ﬁ‘ﬁE
RLAY B H B 5 .

UN:HESS: v -

) The underlined word “...”

means/ refers to
(2) The word “...” in line ... probably means

” refers to

(3) In line ... the word “...

2. “BRRE NS

A TEMR R B BX R EO A RRENR, TBENM FREEAE. FEZ-BMERFAN—AZ
XEFAERELE, XPHBAE— RN ETXRMEFPERT AR, BHHREEXLERSEFRKET— = XH
B BB, T % 1 R 5 18] At ] B 1A 2 3R R 3k B 4R) B9 BB R — > SCT, X B R B IR A “ R A2 L7,

’ FRHWERTA

(1) Which of the following is the closest in meaning to the word?

(2) The word... could best be replaced by

(3) In the... paragraph, the word... means (refers to)

3. AIFEXIFNE

A 18] UM AR AT ST R A PR B E M, W AN E TR A S E P AR — a7, Bk
RHEER., FTEXZHEFEMATHEMES . BUXKENEL B TA4,E LT A #H By 2 ## R B 7 38R 2 A
ZWE T, REAFRIETRELEEFTREQSE, AT AR BRI, s S 5 30O B 8 Xt A

0%
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PEATHE W FE AR

HERKEMRTE

(1) The underlined sentence in the... paragraph probably means that

(2)By saying “...”, the writer means that
C mans

7 W) T SCRE B e AR BEAR B 1R) IR 4 L) F B FE TR SRR I B LR S VIR AT R B R B AR 4R . I iR B,
AT AT A SCE b — S0 B X 1 A A R T LUAR 40 PN TR B R 00 AR HE I 3R] S o T AR B EA L3R B L R & R) L
ML S B S5 O ZR 0 W3] S 5 36 AT LAAK 5 44 18] 32k 0 T A TR, DA A= 18] A B O T ) S,

XEAEE AT E AR K B, TESCE P — 2o A HE A X B R 1 B0 TR 1R SR BT A B AR AL
R, XEBBRENGEEAMEEK, IEANESEGSE, AIAEMNRBNRACRELHL., MERNE
L E P ERA — ) F BB K B B4 B AR XA FER B Ve A B B v AR B R LR R, R AT
R SCE o 1 A 1A S5 T A X IR B IR E X 2 5 R i 1R 1 AT LA 4R HEAE W 1R R AK R . Z A RAT T A B R
TR B RBC S (B ERED . AR IRATT R BLSCE i A 17 J5 T A & X AR 1R 59 2 41, AR 4 BT 2 Y B F B RE
BB AFRINEELR.

ARBRXEFHAERS LT XPRHEXGEEFESE —ENNEZEXR  BARMRTUNMHACEEN
BE RS AR ENZ R FEERZEBRXRASE, IR 5 1R 2 58K 7R W7 A 1708 L KRB . R
E—NEFHEED AXNENFYSARET EERHR, B2 EMNZEREEX LW BEXR; MEE
AFHEET  WNFYARZEHRERXR PBLAENMNZEARGFERRNEBEXR. £1@5 ETXHHYME
KIFRESHEWR T I RS ER R, FATRT LUR I8 X Foh % 48 5 R 0 A 17038

A 5 SCE i A R A B s AT LAV DAy #E T AR 3R R SCRO AR B ?ﬁfl]_fl«lﬁiﬁﬁﬂ?‘%ﬁﬁﬂgfﬂ PLIRERTE
J5 8 VB2 AR K & AN ER S R B 3R] L,

BNZ MDA WA Rt R TR AR & T E RS BOR BT . TEDI I RATSE £ 7 LUR$E LB, R 1% N
BB BTG, R AR T, BAECE B, REREEKE.
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Passage 0

European delegates Saturday took a special train called the “Climate Express” in Brussels and headed
from the important UN conference in Copenhagen which aims to reach a new global climate agreement.

The passengers included officials from the governments of France, Belgium, Luxembourg and Germany.

Jean-Pascal van Ypersele, vice-chair of the Intergovernmental Panel on Climate Change (IPCC), told
AFP he was very convinced that the world’s nation could agree on an accord to combat global warming during
the conference which would open on Monday and run to December 18.

Getting into the spirit of the “Climate Express”, van Ypersele was wearing a railroad conductor’s cap.
The Belgian professor of climatology answered journalists’questions during the 12-hour journey as some of the
train’s cars were organised into workshops( /1 i1 Z3) on climate issues.

The “Climate Express” is also sending a message on means of transport. The transport industry is a major
producer of CO, emissions, making up over one-fifth of global CO, emissions. Railways are important in
reducing greenhouse gas emissions. A passenger is responsible for five times less carbon dioxide emissions
travelling by train than by car. For the trip from Brussels to Copenhagen, the train at full capacity will
produce 14. 2 kilos of CO, emissions per passenger, compared to 43. 6 kilos for a car, 82. 4 kilos for a plane
and 63. 5 kilos for a ship.

Train operators from around the world also participated in the train to Copenhagen campaign with the aim
of raising awareness of transport’s influence on climate change.

The “Climate Express” passengers also included environmental activitists like Alison Gannett from
Colorado, who made the trip from London to Brussels on foot. “We have to save the snow which is the source

” said the American champion skier.

of half of the world’s drinking water,”

Other activists just came to wish the delegates a good trip, while  they were taking even more
environmentally friendly means to Copenhagen. Miriam Morena of Spain was cycling to the Danish capital. “I
am very concerned about environmental issues, and they are at the very heart of our lives” said the 24-year-old
teacher from Barcelona.

() 1. Which of the following is the most environmentally friendly means of transport?
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( )2.We can infer that Alison Gannett . Express”?
A. hates hiking A. To save time.
B. is a professor of climatology in a university B. To enjoy the views along the way.
C.is good at winter sports C. To raise awareness of transport’s influence on
D. is against taking the “Climate Express” climate change.
() 3. What does Jean-Pascal van Ypersele think of D. To reduce the use of energy.
the accord to be reached at the Copenhagen () 5. Miriam Morena was to get to Copenhagen
conference?
A. He is very optimistic. A. on foot
B. He is very pessimistic. B. by bike
C. He is not sure. C. by “Climate Express”
D. He is very doubtful. D. by air

()4, Why did European delegates board the “Climate

Passage @

A weekend full of parties begins today. Almost everyone is expecting the excitement of going out and
drinking with friends. Few are thinking of the dangers, that is, drunk driving. “I'm OK, and I can drive” is
often heard during the parties. Many times people will not realize how much alcohol they have consumed and
they don’t realize how they may affect them. In fact, many of us have been in situations where we have got
into a car driven by a person’that has had several drinks. And several drinks may be enough to lead to serious
consequences.

The words “Don’t drink and drive!” have been spoken enough. However, I still don’t think people would
listen. In order to be over the legal limit of a blood alcohol concentration (i ffi 7% &) of 0. 08, a man must have
four drinks in one hour. One might brush this off saying four drinks in one hour is excessive, but driving
under the legal limit may put oneself and others in danger.

One must seriously consider what one is doing while driving. When I first got my driving license, my
father told me, “A car is a weapon if used irresponsibly. ” Most people know someone who has been killed or
seriously injured due to a drunk driver. Driving is dangerous when one is not in full control.

Along with endangering the safety of oneself and others, if one is found to have been drunk-driving,.
major problems may follow. There is the possibility of higher insurance rates, loss of license, jail sentence or
community service.

The consequences should prevent all people from driving drunk, but sadly this is not the case. Peoble still
choose to drive drunk. Part of this results from a belief that we are above the rules set out for other people.
People think that it will not happen to them. But the truth is that drinking and driving really does affect people
everywhere. And it needs to be taken seriously.

I suggest that anyone driving over the weekend should choose not to drink at all, even though they may
be under the legal limit of drinks. This weekend should be fun. With driving safety in mind, you should be

confident that you will return to your campus without any problems.

(1. This article may be intended for . A. taxi drivers B. young students
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C. bus drivers D. cyclists (4. Despite the consequences, people still choose to
) 2. The author thinks that the legal limit of drive drunk partly because they think
drinks is ; A. they are much smarter than others
A. very harsh B. they drink little enough
B. harmless C. their cars are very good
C. far from severe ' D. they somehow are different
D. of great help ( )5. The phrase “brush this' off” is closest in
/3. Which of the following is NOT the consequence meaning to
one may face if caught driving drunk? A. take it for granted
A. Loss of the car. B. take it very seriously
B. Higher insurance rates. C. refuse to read
C. Loss of license. D. intend to follow

D. Jail sentence.
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A mother from Colorado, whose doctors said, had died while giving birth to her son, said it was a
Christmas miracle that both she and the boy are alive.

Tracey Hermanstorfer’s heart stopped beating and her son Coltyn appeared lifeless after the Caesarean(
[l y= 4. ) section on Christmas Eve. However a few minutes after he was bdrn, both began breathing again. Dr
Stephanie Martin told Good Morning America she could not explain how the pair survived. Mrs Hermanstorfer
and her husband Mike told the American television show that their baby was now healthy and they were doing
“good” following the drama at Colorado Springs Memorial Hospital.

The couple, who already had two children, had to go into the hospital seven weeks earlier than planned.
Her husband, 37, said his wife was tired after receiving an epidural (i /if %) during the labour ( 4} if [ ji77 ) but
after closing her eyes, she “wasn’t waking up”. She stopped breathing and she was believed to have suffered
a heart attack before her heart stoppe(i beating entirely.

Dr Martin said she was called in and the outlook was grim since in most situations like this, “despite the
best efforts of the team”, the mother was often unable to be revived. In that case doctors then tried to focus on
delivering the baby but when he was born he was “completely lifeless”.

Mr Hermanstorfer told the Associated Press news agency: “I had everything in the world taken from me,
and in an hour and a half I had everything given to me. ”

Dr Martin said she did not have a “great explanation” for why Mrs Hermanstorfer’s heartbeat returned.
“Somewhere between four and five minutes she had been without heart rate and had stopped breathing a
minute or two prior to her heart stopping,” she said. The doctors were then able to bring the baby back to
life, and the mother was alive after that.

Despite tests, she said doctors were still not sure about what had happened. However Mrs Hermanstorfer

and her husband Mike have said they believed it was down to a miracle. She said: “I got a second chance in

life. ”
1. The story happened on : (2. What might have happened to Tracey Hermanstorfer
A. December, 24 B. December, 25 just before her heart stopped beating?
C. December, 31 D. January, 1 A. She became unconscious.
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